the calibration object spacing, keeping the point count constant, and letting the board grow. Range is constant. Have 1 cameras looking at 100
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: Distance between adjacent chessboard corners = 0.04 ——
Distance between adjacent chessboard corners = 0.06 —
Distance between adjacent chessboard corners = 0.09
Distance between adjacent chessboard corners = 0.11
Distance between adjacent chessboard corners = 0.13
Distance between adjacent chessboard corners = 0.15 ——
: Distance between adjacent chessboard corners = 0.18 ——
8 | : Distance between adjacent chessboard corners = 0.20 ———
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